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SEMEAE - B

BIEE
x0.070

OREREE
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x1.18

3.198  m2
a&t 3.198  m2
0.224 m3
a&t 0.224 m3
0.264 m3
a&t 0.264 m3



BHES & (m) M (m) S (m) H= By bl
EEILZ® By Ly -#HEhELE . f t=0. 070
FH01 T1 2.900 1.200 2.200 m2  |CADK%E
F 4701 T2 0. 200 0. 800 0. 160 m2
F 4701 T3 0. 200 0.150 0. 030 m2
F 401 T4 0. 250 0. 400 0. 100 m2
i F 4701 T5 0. 300 0. 200 0. 060 m2
F 4702 T6 0.150 0.150 0.023 m2
F 4702 T7 0. 300 0. 750 0.225 m2
F 4702 T8 0. 200 0.150 0. 030 m2
F 4702 T9 0. 350 0. 200 0.070 m2
F#702 T10 1. 000 0. 300 0. 300 m2
INET 3.198 m2
&t 3.198 m2
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AT EGRER 0.75%x1.3 = 1.0 m2
A2 0.3x1.0 = 0.3 m2
=111 = 1.3 m2
avy)—+I INBUREEY), N DHTER
o ck=18N/mm2
AMT7Ep 1/2x (0.00+0. 35) x0.854+0.35x0. 154+1/2 % = 0.396 m3
(0.354-0.00) x0.503+0.42x0.140+0.22x0.210
AlcparEs 0.02x0.29640. 20 x 0. 550 = 0.116 m3
AT EGRER 0.29x1.300 = 0.377 m3
A2 0.30x1.00040.32x0.686+4+0.40x0.314—0.17 x = 0.577 m3
0. 400
=11 = 1.466 m3
BT — B OB EYD)
MTiREs 0.1140.15+0.024-0. 21 = 0.49 m2
AMhER 0.1240.28 = 0.40 m2
M LERER 0.67%x1.3+4+0.10%2 = 1.07 m2
A2 1.10x1.0040.30x%x 2 = 1.70 m2
=11 = 3.66 m2
H|IVEEILZILT TLEvIREAT
AMTRES 0.42x0.20 = 0.084 m3
Al ER 0.48x0.20 = 0.096 m3
A&t = 0.180 m3
BEIEE
thEMIET
FyEVY E2cmEL T
TimAHE 0. 200x 0. 800+0.200x 0. 150 = m2
a&t = m2
avy1)—F+I INBUREEY), N DHTER
o ck=18N/mm2
TRAIHE 0. 200 x (0. 150+0. 015) x 0. 800+0. 200 x 0. 150 x = 0.027 m3
0.015
FyEUTEYEEISME L TEH = = 0.027 m3
BT — iR ONEIREE YD)
THaAE (0. 17040. 150) x 0. 800+0. 150 x 0. 200 = 0.29 m2
&5t = 0.29 m2
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EEI. 0.224 = 0.224 m3
#EHIET 0. 200 x 0. 800 x 0. 015 = 0.002 m3
Bt = 0.226 m3
SEHEE 0.226% 2.3t/m3 = 0.52 t
. RE&ET
Bi5T HERS
HREEA. Tm) ZHEEHEA. 2m) THEIL, FTEEEROEHZ LT,
RISHMESEIH1.7/1.2 = 1.4 5%
2.1x1.4 = 2.9  $#m2
Bt = 2.9  #m2



